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1. Which of the following is an Example of Active Immunity?

afsra IfcRET & 3eTeR0T oot & & it g7
a. Vaccination (ETeRIenYoT)

b. Colostrum (FlelEcH/9gw)

c¢. Readymade antibodies (s=¥ s=TTT gfaved)
d. All (g

2. An antibody molecule can be represented as :
Teh TRl 39T 1 58 YehR @ (3T fohar ST Hehell 8/ ST B
a. H.L, b. HL c. H,L; d. HsL,

3. Humoral Response is associated with ...... .
QICEGIER IR RIERIC IR T .
a. Lymph, T Cell, Memory cell and Antibody
(TR, - PRART, CATSTAT HITRIHT, T HIfART TUT FfaRed 3107)
b. Blood, B Cell, Plasma Cell, Memory Cell and Antibody
TFA/RAR, S1- RIS, CATSTAT hITRAHT, THI RIfRAHT F2UT FfdRad 37)
c. B- Cellsand T- Cells
(S1- TR 3R Y. i)

d. Antibody molecule (FTcR&d 3707)

4. Cell Mediated Response is associated with :

HITRIRT HTELCT 37a](shdT T T B
a. B- Cell (dft. Fifrahm)

b. T- Cell (EY. ShIfAT T)

c. C- Cell (HT- hifrem)

d. o- cell (37T HITAD)
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5. Interferons are secreted by............ .
STIBUT RIS .o, & AR gIdT g |

a. Bacterial infected cells (STTaT0] HshiH HIRAAIT)

b. Fungal infected cells (Fde ThTHd PITADIT)

c. Protozoan infected cells (FTEISIT3Te TshiAd ITARIT)
d. Virus infected cells (fST0] Hehffc HIRIehTT)

6. Secondary Immune response is

cfachaes gfored 3rgfshar gl &:
a. Slower (&)
b. Faster (ce)

Moderate (HTHT)

d. Not related to the primary response. (STHe 3TeIfshar & FeTOIT w6 £ 1)

7. Innate immunity means .................... .

a. Immunity by Birth (STea<ITa 9faRem)

b. Immunity before Birth (STe=T & Tgel & His[g wfawat)
c. Acquired characters (3utfora ufaRem)

d. Immunity before Birth (ST & &T¢; 9Ted Tfae)

8. The immunoglobulin that can pass through Placenta

e T 307 ST 31977 &Y U &Y Hohell §
a. IgM
b. 1gG
c. IgE
d. IgA

9. The immunoglobulin involved in Allergic reactions

RS srsgfenan/tersit & Heiftrer gfaraf 3107

a. IgM
b. 1gG
c. IgE
d. IgA

10. Immunoglobulin present in colostrums (Mother’s first milk)

PIeECH/IIYY (AT & &N H I1T SileAarerr Tiazed 31

a. IgM
b. 1gG
c. IgE

https:fbwius.com
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11. Tumour is/are:
3 e A
a. Group of cells who have lost the property of Contact Inhibition
(AT PIRARI3T 7 Fog ToTeTH FETLT HEHA ol I[0T FATCA &1 AT &)
b. Group of cells having property of Contact inhibition
ST IR b7 Hopg TSITat HETeT HeaeT 1 0T Al[e §1)
¢. Group of cells having specific function
(el TR & g SIRIRIST T THE)
d. Group of cells having general function

(|THT 1 & FeTelel g RIS T )

12. Types of tumour (Cancerous cells)....... .

39S & AT g ... :
a. Benign (g&H)
b.  Malignant (G&#)
Both of the above (39RIerd &l=iT)

d. None of the above (378 & IS =g)

13. Excessive and longer consumption of alcohol / drug may leads into:

Uehigel o ofel THI cIoh e Teeh HTAT H JleT lel A BT Hehod ATC! TJh AT .
a. Liver cirrhosis (Iehel s &TfcY)
b. Respiratory failure and Heart failure (9dsT YT AT &8¢, UTd)
Cerebral haemorrhage and damage to Nervous system (mﬁwméﬁﬂé?aﬁw
d. All of the above (3T Tefh)

14. ELISA is based on the principle of:
uferar fond flcard W 3maiRa g

a. Antigen-Antibody reaction (Jfaste- gfaReft 3rfAfRaT W)
b. DNA polymorphism (3V.T+1.T. Sgfafaerdr a3)

c. Contact inhibition (F2UeT TEH)

d. BothBand C (BdUTC &)

15. Widal test is associated with :

faerer udtetor o1 Ty e A A P AT A 2
a. Malaria (FaR=m)

b. Tuberculosis(@am

c. Cholera (g3
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16. DNA fingerprinting works on the principle of:
SI.UA.U. TR fohe fgeia oX 3meania &2

a. Antigen-Antibody reaction (Jfastal- 9TaRalT 3fATRaT W)
b. DNA polymorphism (2).T+T.T. a‘gﬁﬁﬂ?ﬁ W)

c. Contact inhibition (F29eT TgH)

d. BothBand C (BdATC g)

17. The term ‘Codon’ is associated to:

eg, “BISle” foldsT # § Tohad HTOd 872

a. t-RNA
b. m-RNA
c. r-RNA
d. c-DNA

18. Initiation codon ‘AUG’ codes for which of the following Amino Acid?
AR Jehe ‘AUG” fola=t # @ forat 31l 3171 & forw e &2

a. Valine (dfereT)
b. Alanine (¥atTfaieT)

c. Phenyl alanine (alTgel TelT{oleT)
d. Methionine (A=)

19. The total No. of Amino Acids are:
31T 3T BT el HEAT fehcteT &7
a. 22 b. 23 c. 15 d. 20

20. The process of Replication proceeds in the direction of ................... .

TR 431 i et oF & Ry Rrem 3 gt &7

a. 53 b.3' -5 c. 2! -5t d. 52
21. Synthesis of DNA molecule from RNA molecule is termed as

37T, T 30T & 1.0=1.0. 3707 & faAor & ufsharn e e & Sl sel 82

a. Transcription (3fefel@e)

b. Reverse Transcription (Ra¥ grafsheasT)

¢. Translation (37e1dTc)
d. Replication (SfcishfceT)

https:fbwius.com
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EBIBYJU'S | Inwhich phase of Interphase, the process of DNA replication takes place?
ST & TR TTEAT F 310U, &l YT TadeT Heel Gl 82

a. S-phase (UH- TI0I)
b. G phase (S-1 TROT)
c. G, phase (S-2 TIOT)
d. M-Phase (TH TIOTN)

23. The phenomenon of Incomplete Dominance is observed in

370T T &7 3eTeRT et 7 F Rhae &T= Y AT &2
a. Blood Group (Y& €Hg)

b. Human Skin colour (HTeTd cadT 3T I4T)

c. Snapdragon (E933TeT)

d. All of the above (3TRIFT T

24. Phenotypic ratio of a Dihybrid Cross is
STaHeRT 7 TR YBT JHeTUTCT T Bicll &7
a. 1:2:1 b.3:1 c. 11 d. 9:3:3:3:1

25. Which of the following represents a Test cross
=T & T leT AT 1T T N&T0T I AT AT Xl 672
a TTxTT b. tt x tt C. Ttx Tt d. Ttxtt

26. Pleiotropism is a phenomenon in which,
a. One gene control one character
Teh Siled, Ueh A[0T bl T3 e g |
b. Many genes controls a single character
e & 317 ST, T a7 Y v e
c. Many genes controls many characters
T & 310 i, U & e ot A fRifa aa
d. One gene controls Many characters

Teh ST, Toh & TRk 0T ! foaifae aea €

27. Which of the following are Genetic material(s) ?
foret o1 & Foray 3rregafves emelf o 3feeter T arar 87
a. DNA
SLUAT
b. RNA
IR TAT.
c. Chromosome

https:fbwius.com
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28. Which of the following Mendelian principle is also known and Purity of Gametes?
v 3 & oy FOGTl 1 “7ent 37 Qerar T FReiaT off T oiTelT &7
a. Law of Segregation
faaae faga
b. Law of Dominance
AT T TH
c. Law of Independent Assortment
T I I fAaH
d. BandConly
B 3R C &aer

29. Which of the following hormones are secreted by the Placenta?
3TORT & aRT Hfad gl P A d i arg?
a. Estrogen and Progesterone
TECIS 3T Gt
b. Relaxin

RGIERCH
c. HCG
Tl S
d. All of the above

3WIFd Teir

30. Double helix model of DNA was given by
SY.UA.T. T T T &fachsiord o fohda) g foham

a. Wilkinson (faeferae)
b. T.H. Morgan (&I. T2, AR

c. Hargobind Khurana (gXanfde T«
d. Watson and Crick (aredsT 3R foher)

31. Infective stage of Malarial parasite is

HITRIT IS T HehlH aEAT ool 7 F i g2
a. Trophozoite (SIRISIITST)

b. Sporozoite (FIRISIITET)

c. Merozoite (FRISII3ET)

d. Gametocytes (3 AEHTSE)

https:fbwius.com
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EBIBYJU'S | The sexual stage of Malarial parasite is completed in
FHART qraT ahT ol faeh =RoT, folo=t 7 & foherad qut glar g2

a. Mosquito (HTaX)

b. Human (HATq)
c. Water (STel)
d. Pig (g3N)
33. Any substances that can cause Cancer, is called.....
39U 9Ty S FET 3ol Y Tohd &, Pedld ...
a. Carcinogens
FESTT

b. Oncogenes
3iTepraiet

C. Metastasis
Aereefad

d. Metamerism
HARSH
34. Which of the following is not a water pollinated plant?
s ¥ FIeT STeT G@RT TR G @ &2
a. Vallisneria
gierg=-1Rar

b. Hydrilla
grsfger

C. Zostera
ST

d. Water lily
arex ferelr

35. Non-sticky pollen grains are characteristic feature of

Frafaarge IR wReTRUT foRaehT fadhvar &2

a. Air pollinated flowers
A I o

b. Water pollinated flowers
STl TR 57

c. Pollinated through bees
AYAFY § T T

d. Pollinated through bats.
THINEST F TR T

https:fbwius.com
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« ITAd 3R & AT FIS 3 7L FIC G|

1. Morgan worked on
AT of foloet 7 & for X & fomam?
a. Fruitfly
Bl HEFE!
b. House fly
ERe] AT
c. Honey bee
HE AT
d. Dragon fly

SITeT el

2. In Females, Primary sex organs are called as
et & wrafas Jfdre 391, g A d i g2
a. Testes (VOI)
b. Fallopian tube (373dTfg=ir s1feldhT)

c. Fimbriae (3Teerdl)

d. Ovary (37312M¥)

3. Uterine cavity is lined by
aTeTerT T a7eT, et 3 & o (3eeh TR /) TR BT 87

a. Perimetrium (TRETHTRT)
b. Myometrium (3T U2t TR)
c. Endometrium (TR 37d: TR)

d. None of these (378 & IS 778)

Page 1 of 9
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4. The structure which is also called Secondary Egg Membrane is
a8 T O gfadiae 375 ool o shgarral &
a.  Zona Pellucida (Si=IT 9e]f&sT)
b. Corona Radiata (BRI If3aTCT)
c. Theca interna (2TepT SeaT)
d. Theca externa (ehT TFHEIT)

5. The release of ovum from Matured Graffian follicle is termed as

ITRY Jeeh A Teh TRYeFd 37ST0] oAl ATl g ellll o
a. Spermatogenesis (}[shoTeteT)

b. Oogenesis (333TaTeT)

c. Ovulation (373cHa)

d. Spermiation (AT

6. Fertilization takes place at/in
fSret hr aforar fAwtifha 7 & gl I 9T gl 872
a. Ovary (373T219)
b. Uterus (STdTglein)
c. Isthmus (TehroT T2r)
d. Ampulla (cifsrr)

7. The placenta helps in :
R 7T F  fohet- fohet 1t 7 Fgg et 87

a. Supply of oxygen and Nutrients to the embryo (0T 3T JTTeFHTSTeT cTT GINOT & T

b. Removal of Carbon dioxide and Excretory/Waste materials produced by the embryo. (FTesT SIBHTFASS
oTUT 80T AR 3cee] ScHsil Terit 1 forsehraeT)

c. Production of Hormones (8THfeT T 3cureet/dTd)

d. All of these (F3)

8. “COLOSTRUM” is (frg¥ &)
a. Milk produced by the mother (#T & ZaRT HTfad gIen)
b. An antibody found to be present in milk produced by lactating mother (FT & & # 3UTEI Ueh Hiaa)
c. Milk produced by mother during the initial days of lactation (T T IYH )
d. A Vaccine recommended for new born babies (arsirel f12] o foIT FEcIfacT veh Tk T Erehr)

Page 2 of 8
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9. STD stands for
TH.EL3Y. & quT A1

a. Sexually Transmitted Diseases (JlsT GaTRd 39T

b. Sex related transferred diseases (Tel3T HeTd TATATAR M)
c. Sexually transferred diseases (ofT31er TATATARG JT)

d. None of these (3URIed & H IS =18T)

10. Vaccination is an example of ............. ..

(ETRTRTOT TorT & W TohenT 3aT80T &7)
a. Active immunity (&fsha gfazem)

b. Passive Immunity(ffSsa wfazem)
c. Innate immunity (STeHSITd WTaRE)

d. All of these (378 & Te)

11. What would be the ploidy of the cells of the Tetrad?

T Y T AT F FHIOTCT 4T g1afr?
a. 2n
n
. 3n
d. 4n

12. Double Fertilization involves:
A ST i aiFAfaa &2
a. Syngamy (Z3He Heldel)
b. Triple fusion (&)
c. Syngamy + Triple fusion (JIH% HATeT + AT TeT)
d. Syngamy — Triple Fusion (J3#He Hordiel - P& eg=)

13. Oogenesis gets initiated / started at which stage?
IS STeteT T BT ol 3T H glell 87

a. Before birth (ST & Tgo)

b. After birth (SeH & §1g)

c. At puberty (IRYFIAT & TH)
d. After puberty (ARTFIAT & 915

Page 3 of 8
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et ransfer of characters from one generation to another is called:
fenefY 70T o7 Ueh ST & qEdT U1t 3 SiTeT T FishaT shgelrell ¢ |
a) Inheritance (IRIMaTTeY)
b) Heredity (3TeTafRIeh)
c) Variation (fafaeram
d) Mutation (3cIRad=)

15. In which of the following mentioned case we get 1:1 ratio:

fovet 71 & forerat 1:1 1 31TaTeT S@et Y et 87
a. Sex linked (TofaT Tgerest W91
b. Back Cross (3 )

c. Test Cross (ST ShTH)
d. Dihybrid Cross (Gfa&dh0T)

16. If coding strand is 5’ATGCAT3’, then the mRNA sequence will be:
I ST Too] 5”ATGCAT3’ &1 Al mRNA TR SHEAT 3eJoha T §IITT?

a. 5’AUCGAU3’
b. 5’AUGGAU3’
c. 5’AUCCAUY’
d. 5’AUTGAU3’

17. How many regions are there in a Transcription Unit in DNA?
SL.UA.U. 7 Ie]olGe 3hTs o fohctel #1797 gt 82
a. 7

b. 5
c. 3
d 2

18. Phenylketonuria is :

ST &

a. Autosomal Recessive
3TeIaT SHIATEIH AT

b. Autosomal Dominant
3ifeieT sHIATEH gaTdY

c. Sex linked Recessive
foreT agerest IrgaTdY

d. Sex linked Dominant

IGEIRRGEGREICHE

Page 4 of 8
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et A, Thymine is replaced by
Teh 37R.T=1.T 30T & YT bl v &TR & @R FTren e foham Sirar g7

a. Guanine (I3TfeleT)
b. Adenine (TsfasT)

c. Cytosine (AT8eIfasT)
d. Uracil (ZX1fdren)

20. Which of the following is not a Sexually Transmitted Disease?
fAFATToha A & sl A1 3T Uk Aot FaTia a1 78T 872
a. Hepatitis B (gUersfed o)
b. Gonorrhoea (FaiTeh)
c. Typhoid (379 5AR)
d. Syphlis (Rawfere)

21. Sterilization in male is called
X T A FIT Hgalldl g7
a. Vasectomy ([shaTigehl 3TBCs)
b. Tubectomy (fSearfgsir Felr 3TesT)
c. Termination (TfF=I2reT)

d.  Emascualtion (faq&eT)

22. If there are more than one pistils and are fused together is called
At Toh A 31T THRER & 3R 3 39w A 3. gU B, gl 8
a. Megasporangia (FRTEAR )
b. Megasporogenesis (RITEIRISATEY)
c. Apocarpous (fageFdrst)
d. Syncarpous (geFcisdl)

23. Which of the following hormone is secreted by leydig cells?
o=t 7 & Fler @1 grAfe, AT FfRAFTHT garT Fnfad grar g?

a) Androgen (T3ISTeT)
b) Progesterone (Moi&R 1)

c) Oxytocin (3TTFaeIasT)
d) Auxin (3iFasT)
Page 5 of 8
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24. Which one is an example of Gonadotropins:

o & O i MR &1 T 30T §:
a) LH & FSH (Tl T, 3R U%. Td. Ta)

b) Rubisco (¥TaEer)

c) Oxytocin (ATFHCITHT)

d) Melanine (HefTfeleT)

25. The residual, persistant nucellus is called

3raferse IufEAd Siersar fAet H & 31 Hgarrdr 82
a. Ovule (f=TT3)

b. Pericarp (Felfd )

c. Perisperm (IReoT 12N

d. Seed ()

26. Proteins are made up of .................. .

a. Fatty acid (G 31FaT)
b. Glycerol (FTerETen)

c. Glucose (FefhlT)
d. Amino Acid (37T=T 37FeT)

27. Synthesis of m-RNA from the DNA is called as
.UA.T. & m-RNA &7 AT Fgerrar &

a. Transcription (3fefeleT)
b. Replication (Ffcishfciar=T)
¢. Translation (37e1dTc)

d. Reverse Transcription (Ra® grafecasT)

28. In 70S and 80S, the letter ‘S’ is a used to represent
70S 3 80S A, *S” FT9AT........ &I gaifel & fore fRar ST 1

a. Size (ATPR)

b. Density (deTcd)

c. Sedimentation coefficient (RfSHC2IH AITHIAAT)
d. All of the above (3TRIeFT T

Page 6 of 8
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29. The Coding segment of a DNA, that codes for a polypeptide is called as :
Teh S1.TA.T. %[ 96 /TS il ITAITCISS T he el il g, Heelldl o

a. Cistron (HHYIN)

b.  Muton (¥FCTsT)
c. Recon (RepreT)
d. Dendron (33T

30. There are 64 codons in genetic code dictionary because:
T TRIeh e AseTaell H 64 Fehe gl 8, Fifeh,
a. There are 64 types of t-RNAs found in cell.
Teh hITASHT 7 64 YR & t-RNA 91T ST & |
b. There are 44 meaningless and 20 codons for amino acids.
ol Gehel H & 44 Gehe IIEIT Sielfeh 20 Fehe Tl o fohdll 3T 31eT b hfe it &
c. There are 64 amino acids to be coded.
el fAeITT 64 31T 37T 81 €, fSieg Rfed AT BIAT & |
d. Genetic code is triplet.

AT Fe, e gl 8|

31. Which of the following is Termination codon?
{1 7 @ et A1 31, STAA ISt Y Y& R e 87

a. UGA
b. AUG
c. GUA
d. GGG

32. During Replication :
wfdspfa & qaa
a.  The two DNA strands gets separated in its entire length. (STT=TT & Gl Toofeh Teh HTY JUh &1 ST & 1)
b. The two DNA strands cannot be separated in its entire length. (Z.Te1.T & gl=i {eolsh Th €1 JIh Ter
gIdl)
c. The number of chromosomes becomes double.(ST.UsT.T. &I HEAT Il &1 Silel &1)
d. The number of chromosomes becomes half. (S.T1.T. &1 &AT M @ ST 81)

Page 7 of 8
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et ication of DNA as Leading strand and Lagging strand represents:
NS T AT AT Too] o T H STAT o 79 FRATNT T3t 1 FHATOT fa=tifehd & & fohaa
a. Semi continuous and Discontinuous replications (378 &eiel Siciehfel T 318 fashia)
b. Discontinuous and Semi continuous replications (3r&cTel Siciehfcl T 31T Helel Ticiehcn)
c.  Continuous and Discontinuous replications (Fefel Ffciehfcl T 3T Ficiehict)
d. Discontinuous and Continuous replications (3 &eiel Tfciehfel TUT Helel Ticiehic)

34. Transfer of Pollen grains from Anther to Stigma of a different plant
WRIETRUIT T fhET 9 & gohar @ fonell q@r aie & afcierar deh TUAICRYT gl &

a. Geitonogamy

TS TReTOT
b. Autogamy
EF-FIHeT GET0T
c. Xenogamy
R fAs=or
d. Fertilization
fadgoT
35. A Fruit developed without Fertilization :
=TT frSeeT & R e
a. Parthenocarpic fruit
JifaTFRsIfard wer
b. Apomictic fruit
IS AT Bl
c. False fruit
STTHTET Bl
d. True fruit
e Bl
Page 8 of 8
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- 3T U=t o 3O ATAAT &
» el 35 R B |
« T T & forw 1 37 AeTiRa &1
* YU IRl & IR ey feu a0 §| 8T [ashed T a3« I |
« T 3T F T FIS 37eh AGT h1e ST |

1. Which one is not a layer of Microsporangium?

fore=T 3 @ hleT AT #1191 G&H SISATUTeITAY T Teh Tl =T8T 62
a. Endothecium (Terafa3e)

b. Epidermis (tfasfaw)

c. Middle layer (€I TX)

d. Outer layer (9T TR)

2. What is the main function of Tapetum?
CHEH T HET Y FIT8?
a. Protection (X&)
b. Nourishment (9T90T)
c. Secretion (9Td)
d. All of the above (3uRierd Tl

3. Hard outer layer of Pollen grain is made up of

TR T ST FHOR 3TaAR0T a1 7 F ThTehr =T 8T 872
a. Lignin (ferarfaer)

b. Cellulose (ReJeiTsT)

c. Sporopollenin (FARIGTITAeT)

d. Sugar (ET)

4. Type of flowers found in Commelina?
‘RIATAAT H FohE TR T Io0
a. Cleistogamous (3e=HTe)
b. Chasmogamous (3=#Tel)
c. Non flowering plant (3TqsdT aTeT)
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5. What is the function of Sertoli cells?

Fefolt RIRIHIHT T Teh Jo7E 1
a. Protection (&)

b. Nutrition (JTSOT)

c. Repair (FIFHD)

d. Secretion (&dUT)

6. Which hormone is not produced during pregnancy?
so19 § T gTATe o1 a1 Gerstam & SreT o187 gar
a. hCG (va.drsh)
b. hPL (TT.dr.uel)
c. Relaxin (RelfFae)

d. LH (Ter.ua)

7. Diaphragm, Cervical Cap and Vaults are examples of
STASHIH, ITATLT IfaT Il 94T aTec. 3GT60T &

a. Surgical method (2reafaar fafen
b. Natural method (STehfcier fafen)

c. Barrier method (31T fafe)

d. Chemical method (IrTaf=eh fafer)

8. What is the Genotypic ratio of Monohybrid cross?
Thol HL H SHAICTST 3F]dTc T G112
a. 121
bh. 31
c. 9331
d. 9:6:1

9. Full form of GIFT
GIFT & 9ot AT
a) Gamete intra fallopian transfer (3tf&c ST thell fUTe graw™)
b) Gamete inter fallopian transfer (3IfAe e halTIT= TAH)
c) Gamete inter cellular fallopian transfer (IIf&E $eT AefeR Bl UT=T TEH)
d) Gamete intra fallopian test (3tfAT ST FalTaTeT ¢¥e)

10. Which one of the following is an exception to mendel’s law

Hsdl & T &1 39are, eIt iad H i g7
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EQLY‘JL!;S a) Incomplete dominance (3N;U‘r EEICGI)
b) Linkage and crossing over (folehaT T ShITHET 371aX)
c¢) Co-Dominance (&g HTTadT)
d) All (@)

11. An individual with a genotype SsTtUu will produce ........... gametes.

Sielersd SsTtUu aTelT &1 d ........ JIASH I ScdTC FLIM|
a)
b)

c)
d)

o 0B~ DN

12. Snapdragon exhibits...

EAYZIT Y TAd AT 8

a) Codominance (Fg93TTadm)

b) Incomplete dominance (3TqUT FeTTaC)
c) Epistatsis (STEEA)

d) Pleiotropy (FCeraiterdm)

13. Kornberg’s enzyme is another name of

FIAIT TATSH I §H 58 ATH I o1 SeTaT &
a) Ligase (eTg3raT)

b) Primase (JTS&T)

c) DNA polymerase (31.U1.T. QTfeldAST)

d) None (37 & &5 =Tal)

14. VNTR stand for....
(@10 ELHR. T G ATH SH PR ©...... )

a) Variable number of random repeat (3RTsel s 3w {37 RiteH)
b) Variation number of random repeat (3RT2T &R 3% {37 RiUeH)
c) Variable number of tandem repeats (dRTser FaR 3% ¢35 Rivew)
d) Variable number and tandem repeat (3RTser FsR U3 &3 Rivew)

15. Which one of the following is an initiation codon?
e 3 & T AT FHT Teh TR FE &2
a) AUG
b) UAA
c) UAG
d) UGA
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EQLY‘JL!;S .6. The coding sequence or expressed sequence in m-RNA, are defined as
(Th m-RNA T HITSIT 3TTshal Heellcl )
a) Exons (cTFdh)
b) Introns (3TcTSFdh)
c) Cistrons (FaEemT)
d) Positrons (drsiigie)

17. DNA dependent DNA polymerase catalyses polymerization in which direction?
3101 MR S0 T. AT, SgerhienioT bl e & 7 3cRd e &
a) 3¥—-5
by 553
c) Both Aand B (A 31X B &l=T)

d) None of above (3URTeFd 7 & HI5 oTeT)

18. Transforming principle is given by...

T FAEHId ...... & gaRT fgar R g
a) Mendel (HseT)

b) Morgan (HTIT)

c) Griffith (%)

d) Darwin (31fde)

19. Male and female bird has following set of chromosomes
R 3R FeT afart F ffaf@d & § #i9 8 g g 8
a) ZZand ZW type (ZZ 3R ZW 9&R)
b) ZZ and ZO type (ZZ 3iR 72O 9&R)
c) XX and XO type (XX 31K XO W)
d) XY and XX type (XY 3R XX 9R)

20. Which one is an example of false fruit...

fe=T A & Sl a1 BT, fALAT el T Uh 30T 82
a) Mango (3TH)

b) Guava (3H?QG)

c) Jackfruit (shcgel)

d) Apple (Fa)
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21. What would be the ploidy of endosperm..
SOTANY T O e A g
a) 2n
b) 3n
c) 4n
d) n

22. In grass family, cotyledon is called

a1 IRaR A, 197 F 5T ATH I T eI g |
a) Plumule (J1%Y)

b) Root cap (Fef )

c) Cotyledons (a7 99)

d) Scutellum (FHee)

23. Antibodies are produced by....... .
TTREN TUT3HT T ScuTet fohereh SaRT fohaT STTelT 87

a) T cells (&1- SITAT)

b) B cells (. FIfrT)

c) Sertoli cells (Tefel HIfAATT)
d) Mast cells (FTEC HifAHT0)

24. Which antibody is found to be present in Colostrum?
AW & et AT GfATEd 3707 9T ST §?
a) IgA
b) IgM
c) IgE
d) 1gG

25. Allergy is related to which of the following?
SRR Sretfia forer 3 & e Heifea £
a) Histamine (fg¥erATS=)
b) Serotonin (A=)

¢) Melanin (FerTfaeT)
d) Bothaand b (a 3R b gl

26. Histamine is secreted by

feeeTaTgs %1 a1a foras ganT glar 82
a) Granulocyte cells (TATATSE HIFAHTT)
b) Dendritic cells (333 HITAPIT)
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3] QLY‘JL!LS c) Phagocytic cells (7&<hT19] FIfAT)
d) Mast cells (FTEC HifAH10)

27. ELISA is a diagnostic test for which disease
“UTSIAT T FAN9T fohdah 1707 & T fomdT STdT 87

a) Malaria (FaR=m)
b) Cancer (&)

c) AIDS (T3H)

d) Typhoid (STIHIIS)

28. Contact inhibition is property of
(“ERY HEHT" 0T T HaeT FREd §7)
a) Normal cells (JHTHATY HIfAHIT)
b) Cancerous cells (FER FHIfAHIT)
¢) Macrophases (37&TehIUT)
d) Hepatic cells (g3 HIfAFIT)

29. Hallucinations is related to the drug
et 7 @ fhass 3rcafes oo & faas 6 feafa der gy dhdr 82
a) Opioids (3NTU3ME3H)
b) Cannabinoid (FATE=AI3TEEH)
c) Coccaine (FIehaT)
d) Hashish (g2fren)

30. “Cirrhosis’ is related to
ereg ‘FAITAE 1 ey T 7 4 forad 82
a) Lungs (%%3.)
b) Kidney (geh)
¢) Brain (ATEISH)
d) Liver (I%d)

31. If the number of chromosome is 24 in root cells, then what will be the number of chromosomes in
Endosperm?

3R ST, SRYRT & JORGAT h TEAT 24 g it YOTAIY & JOTFHT T TEAT FT grafr?
a) 12
b) 24
c) 36
d) 48

https:fbwius.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

[B)BYJU'S 32. Sickle cell anaemia is a (Risher JeT INAT &)
a. Autosomal recessive (31ToIaT SRTHTHT 3THTT)
b. Autosomal dominant (37folaT SRTATHTST FHTAT)
c. Sex linked recessive (Tol3T TgeTaaT 3TTHTAT)
d. Sex linked dominant (fof3T EgelasT TeITdT)

33. If the number of chromosome in female bee is 32, then what would be the number of chromosomes in
male bee?

e AT FEHFEY & JOTGAT T HEIT 32 &1, oY 7 FELHFWY H J[OTHAT T TET FT1 gIaf?
a) 32
b) 16
c) 8
d) 64

34. If a part of Endosperm retain in a seed, the seed is called
34T dreT [ 3rafrse 1oy g1, Shgelld &:
a.  Albuminous seed (Telgf&=Te o)
b.  Non-albuminous seed (IR Telgf&=Ta e
c. Perisperm (TRfoTAI)
d. Pericarp (e Tf)

35. Triple fusion result in development of

R-Foraet [ # @ foraes 9 A @ g2
a.  Embryo (3f0)
b. Pericarp (et fRf)

c.  Endosperm (3{orqi)

d. Zygote (JIHsToT)
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HAisel YT IF ik
| - 12 | e s e | @ 1 der 30 we | quis- 35 |

« G 9ealt & 3T AT &
- e 35 TRA B
« A TR & forv 1 37 eTRA &
« 9 W2l & IR e few 10 &1 61 fashew a1 ot HfST
« T 3T F T FIS 37eh BT hIe ST |
1. The two ovaries remains attached/connected to the
WWTH, @? ?FT%
a. Pelvic walls and the Uterus (3NTOT f&fr a2 arsiTerr @)
b. The Fallopian tube (373aTfgsil sTfelehT &)
c. The fundus (TeTerT ge=T &)
d. All of the above (3Rl H T T & TTY)

2. The process of formation of mature Female Gamete is called

Ue IRYEd ATGT g & HAATOT &Y T, FEard 8
a. Spermatogenesis (}[shaTeTsT)

b.  Spermiogenesis ([shIVTTeTeT)

c. Oogenesis (33sTeleT)

d. Gametogenesis (JIHhIeToT)

3. The remaining part of Graffian follicle, after ovulation, is termed as :
37T & §1C, mﬂﬁrgwaﬁremwgmmmamﬁmm%?

a. Primary follicle (T4 Jeh)
b. Villi (7a%)

c. Corpus albicans (I 3ifeahy)
d. Corpus luteum (9 [¥3)

4. In females, Oogenesis gets started at
HTCT F 37SoTeleT T BTl el Glchl 67

a. Embroyonic developmental stage (30frar fashrer & giRre)
b. after 12 years (12 98T & dT<)

c. after 14 years (14 ST & d1¢,)
d. after 7 years (7 98T & dT<)
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5. Implanatation is the process related to:

3R ST IfohaT Fafid g

a. Embedding of Blastocyst in the Endometrium of the Uterus.(ShRehTET o1 IRl 3ef:&X &
3 TUTTeT)

b. Embedding of Blastocyst in the Myometrium of the Uterus.(hIRehqel T arsfierdy deft T &
3 TUTTeT)

c.  Embedding of Blastocyst in the Perimetrium of the Uterus. . (ShIRerqET T GRETHTRRT 3 37T €uTde)

d. Formation of an Embryo (80T & fe¥aior)

6. Oxytocin helps in
TFERT AT T 8-

a. In Uterine contraction & Parturition (STl Heperat ot RIS 5= )
b. In Maintaining Pregnancy (FaT3TdT &Y STRY 3@ &)

c.  Milk synthesis (G7er fetToT)

d. Al @sh

7. Oxytocin is secreted by
SRR o7 T v 3 & R T g &7
a. Pituitary gland (¥ 3if2)
b. Adrenal Gland (3if&igersh 4f)
c. Pancreas (319<1R0)

d. Thymus (UTSHH)

8. Innate immunity is an example of ...

Tt UfcReT [t 7 & foheent 3emevoT &7
a. Non Specific type (37faferse )

b. Pathogen specific (JeToTeTeh faferse)

c. Fast response (g wfafsha)

d. None of the above(3eTH & &S TgY)

9. Which of the following statement is correct?

i1 7 & et AT HYUT TET 82

a. Primary immune response is very fast. (maﬁaa@ﬁ;magaehas’rcﬁ%l)

b. Secondary immune response is slow. (&farciiareh 3rgfshar el g 1)

c. Vaccination works on the principle of Memory of immune system. (ElTeRRoT, IfaRET dF &
Ireered & fAeHid W H T8 l)
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J. Antibodies are produced by T-lymphocytes. (TR &7 Scatee &T. FTAehII] o garT fohar ST 1)

10. Pollen grains represents:

TRIETRT, folet H & fehdent wiafaf®ica searg?
a. Male gametophyte (7R ZIHPIGHT)

b. Female gametophyte (¥ ZIHRICHT)

c. Both (3IRIFd gieh)

d. Neither A Nor B. (318 & IS =T8T

11. Which one is not a part of FALLOPIAN TUBE?
et 7 & Sl Saarfaei o1 Hrer A7 &2
a. Ishthmus (SEIHY)
b.  Ampulla (fSsh)

¢. Infundibulum (RTge)
d. Cervix (3T$11eRT fam)

12. Central Drug Research Institute (CDRI) is located at
a. Delhi (f&ee)
b. Kolkata (ShTeTehIdT)

c. Lucknow (eTleI3)

d. Ranchi (T=)

13. If a couple have 5 girls, then the percentage probability of 6™ child to be a girl, will be
Ife U SIS, F uTT oI3.fRAT & df TS I & o8, F glet ST Ufaerd TGS fohdeir g19f?

a. 25%
b. 50%
c. 75%
d. 100%

14. Lac Operon Model is given by :
ot yaTersh I Riegid faeT 7 & foheteh ear feam ram?

a. Jacob and Monad (St 3R AI=TS)
b. Hershy and Chase (8% 3iR =)

c. Darwin (31fdeT)

d. Mendel (H3e)

15. The experimental proof for Semi conservative mode of Replication get demonstrated by:

“31.TA.T. Ficoh ciareT Teh 318) &l 9ishar &7- 38 Yralfates & & foharel Fie forar?

https:fbwius.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

- ___
@BYJUs
d. Jacob and Monad (Stehel 31R AlTS)
b. Hershy and Chase (% 3iT 3=1)

c. Darwin (3TTde)
d. Meselson and Stahl (FEHeT 3T TATeT)

16. In which of the following case, the Genotypic and Phenotypic ratio will be same?

A fEd & & fohe ATHS & 37Tea Rieh TUT IR 37T HATH glam?
a. Multiple allelism (S 37elTerdn)

b. Co-Dominance (T FHTfadT)

c. Pseudo-dominance (frzar gerfadm

d. Incomplete dominance (379UT FeTTaam)

17. The distance between A and B genes is too long on a chromosome. The strength of linkage between them
would be

fe; fordlY IO o foheil T ST A 3R B o o1 i g st 3178 &, Y ST il & Feleotdll 1
erfea ?I?h':

a. More (SI1T)

b. Less (shd)

c. Not related to distance (GJI & 1S Heitr ET)

d. Equal to the distance between the two genes (Gt SfieT o &Tel & g3 & SRTeR)

18. Which of the following hormone is responsible for the maintenance of Endometrial lining of Uterus?

fAeAiferd F @ i 1 g1afa, ITHRRT 37T: TR T IATC 3G H TEIH 87
a. Testosterone (CEFEIECITLT)
b. Progesterone (MoIEeT)

¢. L.H(Terw)
d. F.S.H(Uh.uq. T=)

19. Removal of Anther from a flower bud is called as

el T Sholl H INTITHIR T §eTeT &hT TToHAT T AT T AT &7

a. Cutting (3pTceT)
b.  Masculation (AREReIRIeT)

c. Emasculation (faq&eT)

d. Castration (ST&T &)
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20. Which of the following is not considered as a criteria for being a Genetic Material?
o1 3 @ et AT RIS GeTe T Teh ATIGS 61 672
a. It should be able to generate it’s replica.
SoTH AT TTCIH ol T Fetlel T &THCT gleil TR T
b. It should provide the scope for slow change.

goTdl il I1TY & Seeltd T A[STer et A1fg |
c. Itshould be chemically and structurally stable.

U TH T AT HIATHS §9 § TER glar anfgu|
d. It should be highly unstable.

S8 qUTEUUT TR BlelT AR T

21. A typical angiospermic embryo sac at maturity shows

RO & T, Tah TTEUT STATcaTsl 30T 1Y, T fTd e &:
a) 8nucleate 7 celled (8- #geFellehd], 7-ahIfRIhI)
b) 7 nucleate 8 celled (7- ¥gFellehd, 8-shITRIRI)
c) 8nucleate 8 celled (8- #geFellehd], 8-ahIfRIhI)
d) 7 nucleate 7 celled (7- #geFeliehd, 7-hIRIhI)

22. End of the menstrual cycle is called:

TS hr FATICT AT Fgelld 82
a) Menopause (ISifergie)

b) Menarche (TSi1EeTe)

c) Owulation (37STcEaT)

d) Insemination (A=)

23. Which one of the following is an example of chromosomal disorder?

IO TAHT hT Teh SeTeRT et 22
a. Haemophilia (I fhTerm)
b. Thalassemia (Jerfafaam)
c. Phenylketonuria (%aITgel hrelIRam)

d. Down’s syndrome (3131 [&319T)

24. Crosses between F; offspring and either of their parents are known as

F, T 3R 3Tk it ATAT TOar 7 § fordll Teh & Si<r 0T &l T gl &7
a. Inbreeding (31T ToteleT)

b. Back cross (s shTH)

c. Dihybrid cross (GfaE® 1)
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J.  Test cross (IR&TY THT)

25. Which of the following statement(s) is/are correct with respect to an Enzyme.
Teh USTISH o Tedl H, Tio=TiTchd HUT 7 I Dol AT HUA TET 87
a. All Enzymes are Proteins. (T3 TSITSH Weld o S 8l 6 1)
b. All Enzymes are Proteins except Ribozyme. RTSSISIISH &l SIS, THT USSH YT b S alcd & 1)
c. All Proteins are Enzymes. (T3 WéT, TomsH §1)
d. None of the Enzymes are Protein. (1S 3ff Tasd, WA 8T &1)

26. Which of the following RNA is used to carry the amino acids to ribosome during Translation:

T 3 & leT A1 HR.TA.T., 3 31T Y, TR & GRT, Igaiia 3 ggare &2

a. m-RNA (TH. AR.TA.T)
b. t-RNA (&-31R.T1.7)

134

s-RNA (TH.31R.T.0)

o

sN-RNA (TH.T, 3. T.0)

27. The Functional Unit of Inheritance is :

FeMaTTaY T $HIS 8

a. Gene (SfleT)

b.  Chromosome (I[VI¥LA)
c. DNA (@Ta0)

o

All of these (3TRTeFT T

28. In split genes, the exons are ......... .

a. Introns(3TcTadah)

b. non coding sequences (FTeT-hSaT 37esha)
c. coding sequences (ITSaT 3ieIshd)

d. operons.(ddTeleh)

29. The Genetic code is degenerate because:
3MTIa I FHe, HUEIAT e 3 g ST §, Fiieh
a. One amino acid is represented by only 1 codon.
Teh JHIGAT 31T % fIT el Ueh Yehe gl o
b. One amino acid is specified by the 2 codon.

Teh 371 31FeT & fIT 2 gepe 81 &

c.  One amino acid can be represented by more than 1 codon.

Teh 31T 31e, Ueh W 3118 Tehe] GarT fied 81 Hevel & |
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© [BATE -
ST d. 1 codon can code for many amino acids.

Teh Yehe, Ueh W 3118 3ol 315t ol it oY Havct &

30. The chromosomes are made up of two thread like structures. These thread like structures are called as:

Teh IUG 2l 13l A AR ST g1l &, ST hgellel &:
a. Chromatin (IATE)

b. Centromere (HEIHRR)
c. Chromatid (ATES)

d. Chromonemata (hIHIfHTET)

31. In a DNA molecule, which of the bond is found to be present between the two NITROGENOUS BASES
farelt 3.0t T. A HiS[E AT ASEISTe N d &TRT & HEY UIT Sileidel §tiel &l v A1 § RIS &

a.  Phosphodiester bond (BIERISIITTET 3TEE)
b. Glycosidic bond (FeraepIfaTSs 3Taer)

c. Hydrogen bond(gT83IsTeT 31TeY)
d. Peptide bond (4TCI83 3TeE)

32. The Unwinding of DNA is catalyzed by (S1.UL.U. & &Ml Toofehl & JUFhIHOT H hleT AT 3
(USTTSH) HETIH &7)
a. Helicases (gfeichor)
b. DNA Polymerases (2).T1.T qTfeidieT)

c. Topoisomerase (STAI3MSHATHIST)
d. DNA ligase (37.U1.T SI1SdIaT)

33. The Replication of DNA takes place in:
(3.0 T Y yfcrhfer b gaalm #F i 87)

a. 5°—3’ polarity always (FH2IT 5°—3’ W )

b. 3’ —5 polarity always (AT 3> —5 I #)

c. 3’ —5’ (in Leading strand) (elf3aT o] H3 -5 W )
d. 3’ —5’(In lagging strand) (tf3teT oo H3 -5 %—Cﬁ'JHT )

34. In a DNA molecule, bond between NITROGENOUS BASE and SUGAR molecule.
fohell S1.0e1.0. A HiS[g ATSEISeIehd &TR 3R QT 3107 & HEF UTT SiTaidel S I fohd AT & ThRT

AT ?

a. Phosphodiester bond (BIERISIITECI 3TEE)

b. Glycosidic bond (FeTeRITATSH 3Taer)
c. Hydrogen bond(gT83IeTeT 3TTeeN)
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J.  Peptide bond (4TC83 3TeE)

35. The enzyme that helps in Reverse Transcription is
gg UaTsH, it Ray ciafshedsT & Ace T &
a. Polymerase

CHEEEES]

b. Ligase

CIELIS]

c. Reverse Transcriptase
d. Topoisomerase

CIAITSHFAST
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[BBYJU'S HIRGUs AfeTeh ITHET Td TRIETOT GRwe, I, SREUs
JUH Arafeieh &l 2021-22
Al IR T Je5
- 12 | - sha et | @ 1 der 30 Wee | quiis- 35

« T gREAT & I A g

« Fol 35 9% ¢

- YRS g & fow 1 3 fAuiRa g

« IAF 9T & IR fAdeq few a1v &1 @& fasew &1 g3+ HIfSw|
« 3T 3R & T FIg 3FH AGT dIC S|

1. The term ‘Genome’ refers to

AT e T T oot 3 O Thad g7

a. The complete set (2n) of chromosomes inherited as a unit from both the parents
foreit Sftar 3 3e7eh ATAT-FAAT & YT Fel JOTAT T THE (2n)

b. The complete set (n) of chromosomes inherited as a unit from one parent.
oY Sfta 3 Seteh ATAT-Far A @ forel Teh & 9Te el JURGHT T HE (n)

c. Both (3T &)

d. None of the above (3TRIeFd & ¥ FIS o181

2. Besides the Human Genome which among the following has been sequenced?

AT STATH o TR, o1 7 & fohat-fohet Sfiat &bt 31Tsher foham 51T e 87
a. Bacteria and Yeast (STau] 31 diee)

b. Caenorhabditis elegans and Drosophila (HsiRgeaI e Teldid 3R HereardT)
c. Rice and Arabidopsis (¢TTeT 3iR WrsTioad)

d. All of the above (3uRIercT Tl

3. The maximum and minimum number of genes is found to be present on

feF=TTfehet & @ fohet JoEAT 9T SfeT T TET Sherer: Fad 31T 3R T e glell 87

a.  Chromosome no. 1 and the X chromosome respectively (Sh#<T: IO HEAT 1 3R X- I0TEH)
b. X - Chromosome and the Chromosome no.1 respectively ($h#RI: X- I[OTHA 3R LIMESE TEAT 1)
c.  Chromosome no. 1 and the Y chromosome respectively (3he2T: JRIT HEAT 1 3R Y- I[0TgA)

d. Y - Chromosome and the X chromosome no 1 respectively (Sh#RT: Y- I[OTHA 3R LIMESE TEAT 1)
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et The technique of DNA Fingerprinting is useful in:

AT FHIRTATET deheiian Tolo=T A & Toras TgTaeh 872
a. Finding out variations in individuals of a population at phenotypic level.

(ThEY ST o TaffiesT Sial/ale & o I HAGTONT/AGToITYT [ATHeAdT ST I ofdTleT &)
b. Finding out variations in individuals of a communities at phenotypic level.

(ot FregeTar o fafdieet Sal/aeTt & s &t FereraToli/aeTosedY faffieeTdr ST adr o= #)
c. Finding out variations in individuals of a population at genotypic level.

(ot STorerea & Tafdiest Sirai/elalt o srer hr 3eTa Rl fafdestalr 1 aal o= #)
d. None of the above.

GRIFT & T HS 78N

5. The technique of DNA Fingerprinting works on the principle of
ATAT IR Fepeler oo 31 J vy el 1 3memRa 2
a. Similarities in DNA sequences
(BTTAT & 3eTehaT A ATt aTell FHATTATY)
b. differences in DNA sequences
(BT & 1 A e arel Rfewar)
c. Polymorphism in DNA sequences
(éﬂwywa#ﬁaﬁmagman
d. Difference in Proteins

CIMCERCIEIY)

6. The technique of DNA fingerprinting was developed by
SuaAT FRIRTTE ST T dehetier fole=T 7 & foraeh ganrr s fa & a1s 24
a. Singer and Nicolson
(FATR 3R foishlereeT)
b. Meselson and Stahl
(AT 3R TeTa)
c. Alec Jeffery
(Teleh STFo)

d. Watson
(d1cHeT)

7. Benign tumour differs from Malignant tumour in which way?
HeA 39S, A S hE 39 & Ueh-g@k I et 2
a. Benign tumour remains confined to their site of origin whereas Malignant tumour get extended /spread upto
distant sites

(FEH ITCE, 31 HoT AT Ioh ATAT 6l § SfaTeh Ga G Hel TATe & AIY-HIY 3o HITABTIHT Tk
g Y 3 ey aga < feufar o am S 8

b. Malignant tumour remains confined to their site of origin whereas Benign tumour get extended /spread upto
distant sites
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s (GEH HYE, U= FeT T T WA W6t & T Yoot 38 F TAT & WIY-WY 374 A0 a6
g R 39 aifel agee < feufa & s aa €)
c. Malignant tumour and Benign tumour are not so much different from each other.
e 3% 31N g 91t O Y B g T vt Y
d. Benign tumour is related to plant cell whereas Malignant tumour is related to Animal cells only.

G H 7S T T YIGT HITRIDT & ¢ STelfeh GEA 7S T HaLT shelel Sic] IR A 1T & |

8. Human Genome Project led to the development of new area in biology named as

AT SNATH GRANSTAT, fa3T & fohd AT 817 o 3¢9 T HIRT F11?
a. Genetics (3TeIdfRreh faareT)
b. Molecular Biology (3TT0de fa=1meT)

c. Embyrology (80T fa=iTeT)
d. Bioinfromatics (Sidf =T far=ireT)

9. Metastasis means
AT A daread §
a. spread of tumour away from their origin
R0 Pty Forersl 31 31 a7er Tt g 3141 3791} i gt
b. confination of tumour to the site of origin

Fi e oreet 319 39 e Fure a & AT @

c. enlargement of a cell in size

foheY RITRIAT & 3TTRR & 3Tt gefer
d. Degradation of a cell
ot PIfRrepT T &7 BleTT
10. Genes concerned with Cancer called as
O gefad et
a. Split genes
gfsd ST
b. Jumping genes
SifdeT ST
c. Oncogenes
3ifeRrehe
d. Cistron

{EereT

X
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et Nitdrawal syndrome is related with

fafaadaer derator @1 Tat foraa &2
a. Characters shown by a drug addict on sudden withdrawal of a drug

fRE g9/ TcahIger I ATAT & 3ATeTeh d¢ X ael & IAT R GaRT G@RIT ST aren HAfReaTOs 31

39T Gl
b. The condition of mental retardation
AT TafaTedar i feafa
c. [Excessive weight loss in an individual
R & HAR A cafH AT Feufa
d. Anincrease in glucose level in Urine
HA & Te[ehloT Y AT I 3HTEh Gl
12. Father of Genetics
3TeaRIehT & fcreg
a. Hargobind Khurana
g fde G
b. T.H.Morgan
&1, T, ARl
c. Temin and Baltimore
fAe 3R srafeAr
d. Mendel
EELC]

13. Who coined the term ‘Gene’?

ST 2reg; foheTeh g@RT T I A

a. Mendel
L ELC]

b. John Ray
ST Y

c. Johanson
StgTeTseT

d. Watson
drcHe

14. Rheumatoid arthritis is a type of

H3S ITAEfed T YhR
a. Sex linked disease

forer Hgeraet et
b. Genetic disease

FZA R T

https:fbwius.com
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SETEEE L. Viral disease

farsToy Stfever Qe

d. autoimmune disease
&g gfagedy et

15. A Nucleotide consists of

Th wGFoIAICISS el Il &

a. Sugar + Nitrogenous base
(RRT + TSIl &T7)

b. Sugar + Phosphorus molecule
(2TERT -+ BHTERIE 3107

c. Nitrogenous base + Phosphorus molecule
(FATSEISTATehd &TR -+ BIEhRY 307

d. (Sugar + Phosphorus molecule + Nitrogenous base)
(T + BIETHIRE 30T + HATSEISTelehd &TR)

16. Prolactin is responsible for

mmﬂ%

a. For Milk synthesis
& AU & T

b. For Milk secretion
g7y 9rd & faw

c. For Whitish appearance of Milk
&Y o Hihe, 13T YeTel i o ferw

d. For Digestion of protein
Yot ST 9Tl o oIl

17. Oxytocin helps in
TR Aee FaT &2
a. In Milk secretion

PUAEaH

b. In Milk synthesis

I HYOIWOT H

c. In Development of Mammary gland
Fo JAAT & [Ahra A

d. In Breast development
Fde & s H

https:fbwius.com
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fretemrete - rransfer of Pollen grains from Anther to Stigma is called

ORTSTERUTT ST IRTITERIY U dfcienTar deh ol TUTATARUT FHgelTd &
a. Pollination

ORTaToT
b. Fertilization

fasgoT

c. Emasculation

ﬁg'a?r

d. Mutation
3caiade

19. Formation of Megaspores from the Megaspore Mother Cell (MMC) is called as
TESTSITOTATC] ShITRIT & TSISIT0] T TFAATOT T g elell &7

a. Microsporogenesis

EEEGINERE]

Pl Pl

b. Megasporogenesis

EREISINE G

Pl S

c. Xenogamy
X faAsoT
d. Geitonogamy

TSITTYeT IRIToT

20. In 60% (approx.) of Angiosperms, pollen grains are shed at
SIS 60% 3TTIcTelol UTGUT o URTITehUT Tehd 3T H SIS &

a. 2 celled state

&r SRR TRoT
b. 3celled state
R-aIfreh Tor
c. Single celled state
Teh SITARIT TR0
d. 4 celled state
IR IR TIOT
21. A typical Angiospermic anther is
Teh UTTUeh 3TTgcleioil GXETehTer
a. Trilobed
Ry-arfea
b. Bilobed
gfaurfaa

~

c. Monolobed

https:fbwius.com
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d. Tetralobed
TqsaTiold

S

22. Pollen grains can be preserved in
RIETRUIT T TETOT Tohasd fohar ST TehdT &7
a. Liquid oxygen
ad JTeFaTSTel
b. Dry CO,
eeh CO;
c. Liquid Nitrogen
CELIEHED]
d. Solid CO,
3 CO,

23. Which one of the following is the function of Acrosome?

fFAfa T 7 & Sl a1 F 3791 s F dafd &2

a. Movement of Tail of Sperms.
9 Y AT e T

b. Helps in fertilization
(ST # ASS)

c. Provides energy for the movement of sperm
Q[EFTOT3HT A1 AT 3 FrT Foott sierer ey

d. Prevention of Fertilization

IGREGKIRIETI

24. ‘Nucleoside’ consists of

eSS ST g

a. Sugar molecule + Phosphorus molecule + Nitrogenous Bases
(T + BIETHIRE 3707 + ATSEISTeiehd] &TR)

b. Sugar molecule + Phosphorus molecule - Nitrogenous Bases
(T + BIEHIRE 30T - ATSEISTaiiehe &)

c. Sugar molecule + Phosphorus molecule
(R + HIETHIRE 3107

d. Nucleotide - Phosphorus molecule

(FYfFAINCTSS - BRBRY 310])

https:fbwius.com
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25. Mendel conducted his experiments on
HSS o 3191 AT o forv T ateY &1 3y foram am?
a. Pisum sativum (Pea)

qISHH HESHA ()

b. Solenum melongena (s

TreleTd HeileToteT (d97e)
c. Mangifera indica (Mango)
Hhr 3T (3719)
d. Triticum aestivum (Wheat)

feeea wafestH (31g)

26. Which one is the Universal law of Mendelism?
fafaf@a 7 & i ar fags <Hsa 1 aaifs @ g2
a. Law of Dominance
GHTIAAT T T
b. Law of Segregation
st &t faaa
c. Law of Independent Assortment
T 3Yegge &l aH
d. Chromosomal law of inheritance

aRmmeTfel T aoe fAeeia

27. ‘Chromosomal theory of inheritance’ was proposed by

a. Mendel
e ELC]
b. Sutton and Boveri
e AR aad
c. Temin and Baltimore
fAe it arfeeARr
d. Watson and Crick
aread 3R fohen
28. Which of the following statement is /are correct?
for & & ST a1 YT I B2
a. Leydig cells helps in secretion of Testosterone.
ST FIFARIT, TFEERNT FT T FAT &

b. Sertoli cells provides nourishment to sperms.

FEfTT HIRABTT, YSATILHT T GIYUT TeTeT it T B Ll B |

https:fbwius.com
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The process of Spermatogenesis takes place in Seminiferos tubules.
QIshoTeTal ShT UTshdT, Q[shoteteh ToIeh13il ¥ glci ¢ |

d. All of the above

ERNCTRGE]

29. During the process of Replication Helicases causes
FfiepTcIdet & THY, §cichol ATHeh USTTSH T T 1 g7
a. Polymerization of Nucleotides
Fgm'q’las‘s'a:ragﬂ@w
b. Primer formation
ISR T TATOT
c. Joining of DNA fragments
SI.UST.U. & gohal. I SIS
d. Unwinding of DNA strands
S1.UT.U To] T @lefell

30. DNA — DNA — RNA — Protein
The flow of genetic information in the form of above presented chart will be termed as:

3RS afoTd I1¢ H/dh ATETH T Y iid a2y, i1 & & fha-foha #r gear g2

a. Replication, Transcription, Translation (Ffehfcdet, 3Tefel@d, 3ieare)

b. Replication, Translation, Transcription (Ffcshfcrdet, 37gdTe , 3fefel@e)
c. Transcription, Translation, Replication (3elele, 37efdTe, SldehferaeT)
d. Translation, Replication, Transcription (3{eTdTe, Ficieh{ciaieT 3feeree)

31. The ‘ori’ site is related to (‘Qﬁl?ﬁf T T T FaE ool 7 I Thad §7)
a. A unique sequence where replication is initiated (& TUTeT STgT & Ufciehfel &I Q31T I §1)
b. The region where the DNA replication is terminated (8 TeT ST8T & Ticiehicl FHTC el 8 1)
c. The region where Transcription is initiated (9% TTeT ST & FHcoITsT T Y&l BIcll ¢1)
d. All of these (39R¥eFcT T

32. Which one is an example of lonizing radiation?
ST T e IR FAFROT AT 3eTex0T &2
a) UV rays
EREEICINETU)
b) X-rays
TF-fRIoT
c) Gamma rays
AT fehTor
d) BothBandC

https:fbwius.com
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33. Which genetic disease is caused by Trisomy of 21* chromosome?
GoTH @ hleT AT QT SeFhIEd VR & AT o HROT el 87
a) Klinfelter’s syndrome
FereTtheet g
b) Turner’s syndrome
TR g
c) Down’s syndrome
s13t gt
d) Phenylketonuria

theTgeTshrelal T

34. The main aim of the Human Genome Project was to

AT SAH TRIVSTEAT hl HET 3T FIT AUT?

a. Create awareness among the students about Genomic research
farenf2iat & drer Sl fAen 3eTeee & aR # el ol

b. Create awareness among the scientists about Genomic research
AT o ST Sl THeh HTHUT & S STET%ehcll thellall

c. Sequence every base in human genome
ATAT SIAH H T T3 &TRT 7 37eshad AT

d. All of the above (FuRIeFd @)

35. The technique of DNA fingerprinting is applicable in
AT FHIRTATET Teheileh T IUANIT ToioTifehd H & fohet-fonet 8131 # fohar ST Thar 872
a. Field of Forensic Science
(1T Y FieE & T dfores it )
b. Genetic biodiversity
(3eTatRreh fafaeram)
c. Evolutionary biology
(R ha e
d. All of these
(ERRIEGEIE)

https:fbwius.com
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